

			Vendor I	Ranking		Page 1 of 1
Letting:	03220609 J	lune 09, 2022 02:00 pm	Call Order	: 005	Contract:	E3V85
District:	District 3		Counties:	OKALOOSA	Fed Aid No	: N/A
Contract Time:	60 AVAILABLE	DAYS			Project(s):	44986615201 (*)
Contract Desc:	INTERSECTION	N IMPROVEMENT				

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ANDERSON COLUMBIA CO., INC.	Responsive	Winning bid	\$794,706.51	100.00%
2	C.W. ROBERTS CONTRACTING, INC.	Responsive	Non-Winning Bid	\$1,077,056.33	135.53%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY



Tabulation of Bids

Page 1 of 7

Letting:	03220609	June 09, 2022	Call Order:	005	Contract:	E3V85
District:	District 3		Counties:	OKALOOSA	Fed Aid No	b: N/A
Contract Time:	60 AVAILABL	E DAYS			Project(s):	44986615201 (*)

Contract Descr: INTERSECTION IMPROVEMENT

The Improvements under this District Contract consist of the construction of an eastbound turn lane and a westbound turn lane for SR 10 (US 90) at Mount Olive Road Intersection Improvement in Okaloosa County. Improvements also include signing and pavement marking.

PRE QUALIFICATION REQUIRE TO BID ON THIS PROJECT

Line No / Item ID Alternate	e Quantity Units	(1) ANDERSOI CO., I		(2) C.W. R CONTRACT			
() indicates item is bid as Lump Sum	•	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway						
0005 0101 1 MOBILIZATION 44986615201	(1.000) LS	160,762.30000	160,762.30	290,100.00000	290,100.00		
0010 0102 1 MAINTENANCE OF TRAFFIC 44986615201	(60.000) DA (LS)	99,961.36000	99,961.36	44,240.00000	44,240.00		
0015 0102 60 WORK ZONE SIGN	900.000 ED	0.58000	522.00	0.55000	495.00		
0020 0102 74 1 CHANNELIZING DEVICE- TYPES I, VP, DRUM, OR LCD	1,404.000 II, DI, ED	0.26000	365.04	0.30000	421.20		
0025 0102 99 PORTABLE CHANGEABLE MESSA SIGN, TEMPORARY	201.000 GE ED	26.46000	5,318.46	25.00000	5,025.00		
0030 0104 10 3 SEDIMENT BARRIER	1,240.000 LF	5.31000	6,584.40	5.05000	6,262.00		



Tabulation of Bids

Page 2 of 7

Letting: 03220609	June 09, 2022	Cal	l Order: 005		Contract:	E3V85	
Line No / Item ID Altern Item Description	ate Quantity Units	(1) ANDERSOI CO., I		(2) C.W. R CONTRACT			
() indicates item is bid as Lump Su		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	Roadway		1		1		
0035 0107 1 LITTER REMOVAL	3.380 AC	4,960.33000	16,765.92	2,262.50000	7,647.25		
0040 0107 2 MOWING	2.820 AC	4,960.33000	13,988.13	2,262.50000	6,380.25		
0045 0110 1 1 CLEARING & GRUBBING 449866	(0.960) 15201 AC (LS)	26,997.95000	26,997.95	20,330.00000	20,330.00		
0050 0120 1 REGULAR EXCAVATION	955.100 CY	31.98000	30,544.10	57.75000	55,157.03		
0055 0120 2 2 BORROW EXCAVATION, TRUCK MEASURE	285.300 CY	31.98000	9,123.89	10.50000	2,995.65		
0060 0160 4 TYPE B STABILIZATION	2,782.000 SY	18.22000	50,688.04	39.40000	109,610.80		
0065 0285701 OPTIONAL BASE, BASE GROUP	559.000 01 SY	18.27000	10,212.93	58.95000	32,953.05		
0070 0285706 OPTIONAL BASE, BASE GROUP	2,223.000 06 SY	27.33000	60,754.59	47.20000	104,925.60		
0075 0327 70 6 MILLING EXISTING ASPHALT PAVEMENT, 1 1/2" AVG DEPTH	3,937.000 SY	8.61000	33,897.57	17.05000	67,125.85		



Tabulation of Bids

Page 3 of 7

Letting: 03220609 Ju	ne 09, 2022	Cal	l Order: 005		Contract:	E3V85	
Line No / Item ID Alternate Item Description	Quantity Units	(1) ANDERSOI CO., I		(2) C.W. R CONTRACT			
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 R	oadway						
0080 0334 1 52 SUPERPAVE ASPHALTIC CONCRETE TRAFFIC B, PG76-22	262.200 , TN	264.50000	69,351.90	266.70000	69,928.74		
0085 0337 7 81 ASPHALT CONCRETE FRICTION COURSE,TRAFFIC B, FC-12.5, PG 76-3	554.300 TN 22	214.60000	118,952.78	320.20000	177,486.86		
0090 0570 1 2 PERFORMANCE TURF, SOD	1,785.000 SY	5.79000	10,335.15	4.85000	8,657.25		
0095 0706 1 3 RAISED PAVEMENT MARKER, TYPE I	137.000 B EA	8.27000	1,132.99	6.20000	849.40		
0100 0710 11101 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID, 6"	0.589 GM	1,984.14000	1,168.66	995.40000	586.29		
0105 0710 11125 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, SOLID FOR STO LINE OR CROSSWALK, 24"	24.000 LF P	4.96000	119.04	3.10000	74.40		
0110 0710 11141 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, 2-4 DOTTED GUIDELINE/ 6-10 DOTTED EXTENSIO 6"	0.052 GM N,	1,157.41000	60.19	822.50000	42.77		
0115 0710 11170 PAINTED PAVEMENT MARKINGS, STANDARD, WHITE, ARROWS	6.000 EA	90.94000	545.64	15.55000	93.30		



Tabulation of Bids

Page 4 of 7

Letting	g: 03	220609	June 09, 2022	Cal	l Order: 005		Contract:	E3V85	
	No / Item ID Description	Alternate	e Quantity Units	(1) ANDERSON CO., I		(2) C.W. R CONTRAC			
() ind	dicates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	Roadway						
	0710 11201 D PAVEMENT ARD, YELLOW,		0.753 GM	1,984.14000	1,494.06	1,936.00000	1,457.81		
STAND	0710 11224 D PAVEMENT ARD, YELLOW, NAL OR CHEVE	, SOLID FOR	243.000 LF	3.31000	804.33	2.00000	486.00		
0130	0999 25		(1.000)	35,725.22000	35,725.22	35,725.22000	35,725.22		
	CONTINGENC D 44986615201		DO LS						
	000	1 Roadway S	ection Totals:		\$766,176.64		\$1,049,056.72		
	SECTION:	0002	Signing						
0135	0700 1 11		2.000	661.38000	1,322.76	622.05000	1,244.10		
	POST SIGN, F , UP TO 12 SF	&I GROUND	AS						
0140	0700 1 50		2.000	330.69000	661.38	311.00000	622.00		
SINGLE	E POST SIGN, F	RELOCATE	AS						
0145	0700 1 60		1.000	165.35000	165.35	155.50000	155.50		
SINGLE	POST SIGN, F	REMOVE	AS						
0150	0700 3501		2.000	248.02000	496.04	233.30000	466.60		
SIGN P	ANEL, RELOCA	ATE, UP TO 1	2 SF EA						



Tabulation of Bids

Page 5 of 7

Letting	: 03220609 .	June 09, 2022	Ca	l Order: 005		Contract:	E3V85	
	No / Item ID Alternate Description	Quantity Units	(1) ANDERSOI CO.,		(2) C.W. R CONTRACT			
() indi	icates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0002	Signing						
PROFILE THERMO	0701 18101 ED DPLASTIC,STANDARD- T SURFACES, WHITE, SOLI	0.366 GM ID,6"	10,747.38000	3,933.54	8,950.00000	3,275.70		
PROFILE THERMO	DPLASTIC,STANDARD- T SURFACES, YELLOW,	0.428 GM	10,747.38000	4,599.88	8,930.00000	3,822.04		
	0706 1 3 PAVEMENT MARKER, TYPE	137.000 E B EA	8.27000	1,132.99	7.80000	1,068.60		
PAINTED	0710 90 D PAVEMENT MARKINGS, F CE 44986615201	(1.000) INAL LS	8,267.22000	8,267.22	7,440.00000	7,440.00		
THERMO	0711 11125 DPLASTIC, STANDARD, WH 24" FOR STOP LINE AND VALK	24.000 ITE, LF	8.27000	198.48	15.55000	373.20		
THERMO	0711 11141 DPLASTIC, STANDARD, WH TED GUIDELINE/ 6-10 GAP ION, 6"	0.053 ITE, GM	1,157.41000	61.34	7,750.00000	410.75		
	0711 11170 DPLASTIC, STANDARD, WH	6.000 ITE, EA	107.47000	644.82	233.30000	1,399.80		



Tabulation of Bids

Page 6 of 7

Letting: 03220609 Jun	e 09, 2022	Cal	Order: 005		Contract:	E3V85	
Line No / Item ID Alternate Item Description	Quantity Units	(1) ANDERSON CO., I		(2) C.W. R CONTRACT			
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 Sig	Ining						
0190 0711 11224 THERMOPLASTIC, STANDARD, YELLOW, SOLID, 18" FOR DIAGONAL OR CHEVRON	243.000 LF	6.61000	1,606.23	12.45000	3,025.35		
0195 0711 14160 THERMOPLASTIC, PREFORMED, WHITE, MESSAGE	1.000 EA	496.04000	496.04	388.80000	388.80		
0200 0711 14170 THERMOPLASTIC, PREFORMED, WHITE, ARROW	1.000 EA	413.36000	413.36	233.30000	233.30		
0205 0711 16101 THERMOPLASTIC, STANDARD-OTHER SURFACES, WHITE, SOLID, 6"	0.223 GM	8,267.22000	1,843.59	7,440.00000	1,659.12		
0210 0711 16201 THERMOPLASTIC, STANDARD-OTHER SURFACES, YELLOW, SOLID, 6"	0.325 GM	8,267.22000	2,686.85	7,430.00000	2,414.75		
0002 Signing Section	on Totals:		\$28,529.87		\$27,999.61		

Contract Grand Totals:

\$794,706.51

\$1,077,056.33



Tabulation of Bids

Page 7 of 7

Letting:	03220609	June 09, 2022	Call Order: 005	Contract:	E3V85
			e to file a protest within the time pres orida Statutes, or failure to post the b		

120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.